Customer Hotline
Atencion al cliente
Ligne directe du client

TIelIRMAN ®
1-844-347-6261

Quick Reference Guide
Guia de Referencia rdpida / Guide de référence rapide '

! INARNIN This Quick Reference Guide is not substitute for reading the operator’s manual. To reduce the risk of injury or death, user must read and
understand the operator’s manual before using this product. All pages references to the operator’s manual.

] I|I’-I {

"\ La presente Guia de Referencia rapida no sustituye a la lectura del manual del operador. Para redur:rr el riesgo de Iesranes 0 muerte, el usuario

debera' Ieer Y entender el manual del aperadar antes de urrlrzar este praducta Toda la pagma hace referencra a/ manual de/ operador
g

. _L10Ce guide de référence rapide n'est pas la substitution de lire le manuel d‘opérateur. Pour réduire le risque de blessure ou de deces Iurrlrsateur dalt
lire et camprendre le manuel d'opérateur avant d'utiliser ce produit. Toutes les pages de références pour le manuel d'oprateur.

0 Unpack Generator: Remove generator, accessories, Inserts and lllerature from carton. f any tem Is missing or damaged, contact our product service
department at 1-844—341-6261

Desempaquetar el generador Retire el gerrerabor los acéébs"onos el folleto y el libro de la ca/a " Si falta a'ldua articulo o é'sta"danado contacte con nuestro
departamento de servicio de producto al 1-844-347-6261.

Le deballage au generateur enlevez le gene"ra'te'ilr et ses acEeééblres des insertions et des documents du carton. Si aucun article est rr manquante ou endommagee
communiquez avec notre département de service du produit au 1-844-347-6261.

€) Removal of shipping support / Retirar los soportes que han sido afiadidos para el transporte I Enlevez les supports d’expédition

Before you can run your new generator, follow these simple instructions:
The following items must be removed before running your new generator. In order A cn““n“ A I'IIEI!AIII:IﬁII A cn"“n“

to protect your generator these items have been added to ensure safe delivery of Failure to ramove these iteins can rasult in damage to your generator, possible
your new generator Personal Imury and void your warranty

Antes de poder hacer funcionar el nuevo generador s:ga estas sencillas No retirar eslos articulos parlna resultar en dafios a su generadar paslbles
instrucciones: Iesmnes persanales asi como mvalrdar su garamra

Los siguientes articulos se deberan retirar antes de hacer funcionar su generador “Ne pas enlevez ces elemem‘s qm peuvem entrainer des dammages survolre
nuevo. Para proteger su generador, se han afiadido estos articulos, de forma que se générateur, des blessures de personnes et annuler votre garantie.

pueda garantlzar una entrega segura de Su nuevo generador

Avant que vous pourriez exécuter votre nouveau énérateur, suivez cettes instructions Roter 1o the following Insiructions and piclures to remova the atiached engine
9 p g supporl brackets (red) under the engme

simples:
Les éléments suivants doivent 8tre enlevés avant de lancer votre nouveau Consulte las siguientes instrucciones y imagenes para retirar los soportes del motor
générateur. Afin de protéger votre générateur, ces éléments ont été ajoutés pour (de color rojo) adjuntos debajo del motor. By
assurer une livraison sire de votre nouveau générateur. Reportez-vous aux instructions et images des instructions de démarrage suivants
enlever les crochets de support du moteur attaché (rouge) sous le moteur.
1. Before filling the engine oil, tip the generator back onto its recoil frame end as Your generator is now ready for use. Refer to your owner's manual for proper oil fill and
indicated in this picture. Place the generator on the flattened cardboard box or other startup mstructlons
protective surface. Su generador ya est4 listo para usarse. Consulte su manual del usuario para llenar
2. Remove the Indicated bolts and nuts from the red engine support brackets. You may correctamente el aceite y para sequir las instrucciones de puesta en marcha

use the appropriate wrenches provided. Votre générateur est maintenant prét a I'emploi. Reportez-vous au manuel du propriétaire

3. You may discard this brackets, as it is no longer required for normal operation of your pour les instructions appropriées de remplissage d'huile et de démarrage.
generator.

1. Antes de rellenar el aceite del motor, incline el generador hacia el extremo de su marco
de retroceso como se indica en esta imagen. Coloque el generador encima de la caja de
carton aplanada o encima de otra superficie protectora.

2. Retire los tornillos y tuercas indicados de los soportes del motor rojos. Tal vez
necesitara utilizar las llaves inglesas facilitadas.

3. Puede deshacerse de estos soportes, ya que no los va a necesitar para operar con
normalldad Su generador

1. Avant de rempllr I'huile du moteur ‘inclinez le generateur en arriére sur Ia fin de son
cadre de recul comme indiqué dans cette image. Placez le générateur sur la boite en
carton ou d’autre surface de protection.

2. Retirez les boulons at écrous Indiqués a partir des supports de motaur rouge. Vous
pouvez utlliser les clés appropriées prévues.

3. Vous pouvez défausser cette parenthése, car il n’est plus nécessaire pour I'opération
normale de votre générateur.

SUPPLIED WRENCHES
LIAVES INGI ESAS FACILITADAS
SERRE-ECROU FOURNIE

‘7\7'9
/Y
v 5y

RED ENGINE SUPPORT BRACKET
SOPORTES OEL MOTOR ROJOS
SUPPORT DU MOTEUR ROUGE

REMOVE THESE NUTS & BOLTS AS INDICATED.
RETIRE L AS TUERCAS V TORNILLOS COMO SE INDIGA _
ENLEVEZ CES 4 BOULONS ET ECROUS COMME INDIQUES

included tems I ilrti'culas incluidos | Elements inclus j

El manual Guide //'\\\ Vs
Le manuel Gula de ; 51—1_| A

< {Or . b yid
./ o S S
= Guido de / &Y "“E/\f
rétérance rapide =

€© Install the wheel kit / Instalar el Equipo de Ruedas / Installation du kit de roue

Quick

Slide the axle pin(A) through the Attach the support leg (G) to the Secure handle (K) to the

wheel(B) and mount point on generator frame with flange frame using bolt (H)

the frame and flat washer(D). bolt (E) (M8X16) and flange (M8x45) and flange nut (F)

Secure them with cotter prn((:) . N lock nut(F) (MB) _ (MB) .
Deslice el sujetador del eje (A)a | &7 1) Adjunte Ia pata de apogyo (G) al =AM Asegure bien la manivela s

través de la rueda(B) y del marco del generador con los (K) al marco con la ayuda

punto de montaje en el marco tornillos con brida E (M8x16) y de tornillos (H) (m8x45) y / ; i

(D), y asegure bien la rueda con las contratuercas con brida (F) tuercas con brida (F) (M8) - [ V1 K
ALl (M8). Fixez Ia poignée (K) au |20
Glissez les éléments de l'essieu L ) Joignez la jambe de soutien (G) X cadre par utilisant fa vis (H) kA7 )
(A) a la roue (B) et montez le au cadre de générateur avec la (M8X45) et écrou 4 bride

point sur le cadre et la roundelle vis a bride (E) (m8x16) et le (F) (M8).

plat (D). Fixez les avec la contre - écrou a bride (F) (M8). ‘

goupille (C).

For questions or clarification on these Quick Reference Guide instructions, contact us at: 1-844-347-6261, www.firmanpowerequipment.com
Consuftas o clarificaciones, bajo esta rapida referencia gula de instrucciones, contacte con nosotros a: 1-844-347-6261, www.firmanpowerequipment.com
336731605 Rev06 Pour des questions ou des précisions sur ces instructions du guide de référence rapide, conmactez JSA Tableau: 1-844-347-6261, www.firmanpowerequipment.com




O Battery Cable Connection / Conexién por Cable de la Bateria / La connexion du c3ble de batterie

NOTE: The generator comes equipped with the positive (red) and negative (black) cables already attached to battery terminals.
Nota: El generador viene equipado con los cables ya conectados a terminales de la bateria positivo (rojo) y negativo (negro).
Note: Le générateur est équipé de la borne positive (rouge) et négatif (noir) des cables déja attachés aux bornes de la batterie.

1. Cut wire tie that is binding the black battery cables A and B. i L " 1
2 Insert the male connector ot cable A into female eonneetor of cable B N

Ny B -
\~§'\\
1. lazo de alambre coﬂado que es obllgatorla Ia cables de la bateria negro A y B @i\/ \_
Lo || 7N
B | S

2 Inserte eI conector macho deI cable de A a conector hembra del cabIe de B

1 Couper Ie frl cravate qui Ile noir cables de battene A et B (@ A &
2. Insérez le connecteur male du cable A a connecteur femelle du céble B. 9 p'\uj \ LR
() Add Lubricant and Fuel / Anadir Lubricante y Combustible / A;outez lubrifiant et carburant
Use a funnel to pour provided engine oil into engine. Fill [ Q Use clean/fresh regular UNLEADED gasoline with a minimum
fo the upper mark ot the oil drpstrek H. iﬂ 87 octane.

Use gasolrna regular SIN PLOMO y Irmpra/nueva con un minimo
de 87 octanos.

Utilisez I'essence sans pIomb fraiche /propre reguIrer avecun |\
indice d'octane 87 minimum. ‘

Utilice un embudo | para verter el aceite de motor facilitado en
el motor. Liénelo hasta la marca superior de la varilla de
medicion H.

Utilisez un entonnoir pour verser de I'huile fournidla
moteur jusqu’a la marque supérieure de jauge dl'huile H.

() Start Generator / Encienda el Generador/ Laneez le generateur

Move generator outside to a m ___' ] jIE A DANGEREUX il

flat, level surface, away from S
. Utilizar un generador en interiores PUEDE PROVOCAR LA Utilisant un générateur a I'intérieur peut vous tuar en quelqaes
doors w'“dows a“d ve “ts Us'"g a “e"e'am;'““m L K""'bwu N M'.:UTES' MUERTE EN CUESTIGN DE MINUTOS. Los gases del minutes. Des gaz d'échappement du générateur contient du
enerator exhaust contains carbon monoxide. generador contienen mondxido de carbono, el cual es una monozyde de carbana. C'ast un poison qu'on ne peux pas I8 vair
This Is a poison you cannot see or smell. sustancla venenosa que no puade versa nl olerss. ou sentir.

Typical Generator
Shown

Tipica Genmdor

Traslade eI generador aI exte-

Lu ucnirateur

rior, a una superficie liana y typlque a montré . .
nivelada, lejos de puertas, = = - e 6 o - @
: ™ PN [ PN 1y ] Y AN
ventanas y conductos de D = ) = Ii 1) g [1:[ dml EN)
ventllacron oY NEVER use inside ahome | Only use OUTSIDE and Nunca lo utllica dentro de la | Soio Gselo EN EXTERIORES Ne amals utilisez dans une | Utllisez uniquement 2
or garage, EVEN IF doors | far away from windows, °ami:; :szﬂm| bien alejade de ventanas, rzimgzﬂg“me 8i :ﬁ&ﬁ;“:’:ilﬂi:lnfﬂ
Déplacez le générateur dehors | Mimustrenboined - and windows are open. | - doors,and vents. yreniaas. | puertas y conducios. sou ouverie. dos soupirall,
sur une surface plane, loin des | Puerto de escape apuntando
" lejos de aberluras de vivienda
portes, fenétres et des Le port d'échappement élolgnés
Sou p i ra i /S des ouvertures de logements )
PNTITTTT] Do not overload generator or electrical cords. Consult operation manual.

umﬂm Ne surchargez le générateur ou les cordons électriques. Consultez le manuel de fonctionnement

o | Flip the battery switch to the ON (1)
¥ posrtron

Activa el rnterruptor de la bateriaala

Turn fuel valve under tank to ON ( I ) poatron

Gire Ia vélvula del combustible de la pan‘e
inferior del depdsito hacia la posicién de

Turn engine switch located on control panelto | I
RUN ( 1) position

Gire el interruptor del motor situado en el panel
_ON (1 ) de control hacra Ia posrcron RUN ( I ) posrcron 0N ( I )

Tournez Ie robrnet a carburant sous Ie Tournez Ie commutateur de moteur sur Ie T Plvotez Ia commutateur de batter/e a Ia B
réservoir a la position ON ( 1 ). panneau de controle a la position RUN (1) position ON (1)

Remote Start / Arranque a Remoto / Démarrage a distance
Push and release the START button

Presrone y y suelte el boton START
Pressez et reldchez le bouton START (demarrage)

Recoil Start / Amranque Manual / Recoil Démarrer

1. Move choke lever located on engine to START position

2. Pull cord starter to start engine

3 Move choke lever to RUN Position

1. Mueva la palanca del estrangulador situada en el motor
hacia la posicién de START

2. Estire la cuerda de arranque para poner en marcha el motor

3 Mueva la palanca del estrangulador ala posrcron RUN

1. Tournez le levier d'étouffer situé le moteur a la posmon
START (démarrage)
2. Tirez du lanceur pour démarrer le moteur

3. Tournez le levier d'étouffer a la position RUN
(fonctionnement)

| Electric Start / Arranque Elécirica /| Démarreur Electrique

1. Move choke lever located on engine to START position
2. Flip the engine switch to the START ( Il ) position
3 Move choke lever to RUN Position

1. Mueva la paIanca del estrangulador situada en el motor
hacia la posicién de START

2. Activa el interruptor del motor a la posicién START( Il )

3 Mueva la palanca deI estranguladar a Ia posrcron RUN

1. Tournez le levier d'touffer situé le moteur 4 la posmon

41 | START (démarrage)

' 2. Pivotez la commutateur de moteur a la position
START (Il) (fonctionnement)

3. Tournez le levier d'étouffer a la position RUN
(fonctionnement)

Plug in items to be powered usrng only grounded extension eords

Conecte los elementos para tener potencra "usando solamente
cables de extension en tierra
Branchez des points a lancer par utilisant seulement le cable de
mise a la terre

@ Shutdown and Storage / Apagado y Almacenamiento I L’Arrét et le stockage

Remove any load from the generator [ 5 | Push and release the "STOP" button on the remote control. SKIP THIS STEP, IF YOU ARE NOT USING REMOTE
Retlre cualqulercarga del generador START e s e M o L A s N A e
Enleve? foute Ia charge du générateur |22 "o\ ARRANQUEAREMOTO _ " .

DEMARREZ PAR LANCER A DISTANCE
0O ® Run the generator at no load for 2 minutes and then turn engine o/ Flip the battery switch to 0., \0 Turn fuel valve to OFF (O) posrtron

— swrtch to OFF (O) posrtron the OFF (Q) position
Eé Arrancar el generador ba/o el modo de no- carga por2 minutos

i \ / Gire el lnterruptor del motor haciala
gct/va el interruptor de la S g posicidn OFF (O)
ateri@ a la posicion OF}
y cambiar el mterruptor del motor a la posrcron OFF (O) eril  la posicidn OFF () Tournez e robinet de carburant d la
Farte fonctronner le generateur sans charge en 2 mrnutes purs

Pivotez la commutateur de | @ position OFF () (arrét)
tournez e commutateur de moteur a la position OFF (Q) (arrét)

’ batterie a la position OFF (Q)

NOTE / NOTA/ NOTE:

THE BATTERY SWITCH ALWAYS SHOULD BE IN “OFF” ()

POSITION AT THE END DF USE TD PREVENT BATTERY DRAIN.

EL INTERRUPTOR DE BATERIA DEBE ESTAR SIEMPRE EN "0FF" (Q)
POSICION AL FINAL DE USO PARA EVITAR DESCARGA DE LA BATERIA.

LA COMMUTATEUR DE BATTERIE DOIT TOLLIOURS ETRE A LA POSITON
"0FF" (O) A LA FIN DE LA BATTERIE POUR EVITER DE VIDANGE.

if generator Is to be stored for longer than 30 days, refer to The operator’s manual for further Instruction.
Si el generador debe estar almacenado durante mds de 30 dias, consulte el manual del operador para mds informacion.
Si el generador debe estar almacenado durante mds de 30 dias, consulte el manual del operador para mds informacion.

336731605 Rev06



	P03603_QSSG_pg1
	P03603_QSSG_pg2

